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Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
Section-A
Answer any five questions. 4x5
(a) (i) Examine whether convexity of Indifference curve follows from the axiom of ‘more is better’ in
preference ranking.
(i) Decompose the effect of change in relative price into income and substitution effects when two
goods are perfect complements. 242

(b) Dan lives in a world of 2 time periods: ‘today’ and ‘tomorrow’. At the beginning of each period he
earns X 210. If the interest rate in each period is 0-5, what is the present value of his lifetime
income? Draw his intertemporal budget line. 242

(c) Suppose that a product requires two inputs for its production. Is it correct to say that if the prices of
the inputs are equal, optimal behaviour on the part of the producer requires that the two inputs be

used in equal amounts? 4

(d) If the firm’s average cost curves are U-shaped, why does its average variable cost curve achieve its
minimum at a lower level of output than that of the average total cost curve? 4

(¢) Why is there no market supply curve under monopoly? 4
(f) Suppose the supply curve for a good was completely inelastic. If the government imposed a price
ceiling below the market-clearing level, would a deadweight loss result? Explain. 4

(g) Can economic rent be variable with respect to the owner of a specific resource? Argue in favour of
your answer. 4

(h) What is pareto efficient allocation? How is a contract curve related to such allocations? 242

Section-B
Answer any five questions. 6x5

(a) A consumer derives utility from the consumption of the characteristics of a commodity, say, protein
(P) and carbohydrate (C) content of a commodity. Let the food item x contains 2 units of C and 0-25
unit of P, and the food item y contains 0-25 unit of C and 2 units of P. The prices of x and y per unit
are same, say, X 1; and the money income of the consumer is T 8. Prepare the budget line of the
consumer in (C, P) plane.
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(b) Use budget lines to show that a gift in kind increases consumption opportunities less than the
equivalent cash gifts. 4+2
Suppose Shera views butter and margarine as perfectly substitutable for each other in any of their uses.
(a) Draw a set of indifference curves that describes Shera’s preferences for butter and margarine.
(b) Are these indifference curves convex? Why?

(c) If butter costs T 2 per package, while margarine costs only < 1 and Shera has a X 20 budget to spend
for the month, which butter margarine market basket will she choose? Can you show this
graphically? 24242

Consider the production function Q = 150L, where Q is total output, and L is the quantity of labour
employed.

(a) What does the total product curve look like?

(b) Describe the corresponding AP and MP curves.

(c) Why is it unlikely that a true production function would have this form? 1+(2+2)+1

Suppose you are the manager of a watchmaking firm operating in a competitive market. Your cost of
production is given by C = 100 + Q’, where Q is the level of output and C is total cost.
(a) If the price of watches is T 60 per unit how many watches would you produce to maximize profit?
(b) What will be the profit level?
(c) At what minimum price will the firm produce a positive output? 24242

(a) State the principal conditions which are to be fulfilled for multimarket operations of a monopoly
firm.

(b) A monopolist selling in two markets faces the demand curves p; = 164 — 2q, and p, = 108 - 5¢5.

His marginal cost is ¥ 8. He has no fixed costs. If the monopolist can charge different prices in two
markets, what prices will he charge in each? 244

Suppose that two identical firms produce widgets and that they are the only firms in the market. Their
costs are given by C, = 30Q, and C, = 30Q,, where Q, is the output of Firm 1 and Q, the output of Firm 2.
Price is determined by the following demand curve:
P=150-Q where Q=Q, +Q,.
(a) Find the Cuornot — Nash equilibrium and calculate the profit of each firm at this equilibrium.

(b) If Firm 1 and Firm 2 form a cartel to maximize joint profits, determine the number of widgets to be
produced by them. Calculate each firm’s profit. 343

Under a perfectly competitive scenario, the marginal product of a worker is 5 units per hour and each unit
is sold in the market at ¥ 6. The firm owner has to pay ¥ 40 per hour to the worker.

(a) Explain whether the owner will hire the worker.

(b) As a result of the owner’s decision, what will happen to the productivity with each additional hired
worker? 343

In an economy, clothing and food are produced with the help of labour and capital. Suppose that
w = r = T 4 per hour. In clothing production MP,* /M P£ is supposed to be 2 and that in food production
MP,F /MP is supposed to be 1/2. Is the economy efficient in production? If not, how should it
reallocate its resources? 2+4
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